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6s310000 hr hL urnurLhtnqhurlh rful.nrull urpruFnui nnruil 1900000 trcuz

64210000
Qh4hurhntp oqururqnpbrlultr purrlurpulfttt

hhnuhnnuuqurtrqh bulnurt ntBl ntb
rlnuil 340000 trcuz

98390000 2,unfiuourhqurthh burnut ntBt nthhhn nnurd s0000 trQUZ

98390000
Uuninrlnul hurl ururprupntpl ntbLhpft

rntnrunnnul
4Fud 15000 trcu:

66514100
Urlurnrlhphtrurhhpfr urqruhm{urqpilutt
btunrutnrBtnthhhn

rlFurl 24000 trcu2

77531200 urhnnrJhBhhruhhnh urhlu'qhhntplntb nnurd 30000 trcuz

71631 100 UurnBurd nnntrlhhnh uunlgul)ur1hntil nnulil 140000 trcuz

98341 1 40 3urnurboh ur ulhu urbntplnlb nnurd 30000 trcuz

661 1 1 100 trruh\urlfrh uqururup\rfurh burnurSntplntlt 4lurd 120000 trcuz

85320000 Fdrh ruh urh Brurhntrtrhnh rltru.ruuqhpbntr.i nnulil 25000 trcuz

65210000
tunrlmlur\ur2ruphpnrl qurqur3lrL {unh$pft
nnr ohrrlurh brunurntntnttr

+Fulti 1620000 trcuz

651 10000 Qnh rurrlurJrub burnurlnrBlnth nnull 150000 trcuz

90500000 Un ph hhnurqilurtr Surnurl ntpl nth nnurr.I 90000 NNTT 
'

. 6990000

501 12200
Urlurmlhpbhurtrtplr gbpugb\ trnpnqntd lt
ruuhururhnul

4Fuld 1200000 c2

501 12200
trd2\ru\urh uurppurrlnpntilhhplr pbpugh\
lrnpnqnu-[ h qurhqurhntrl/50420000/

tpurd 890000 trcuz

s01 12200
Chbp b 2frhntplnttrtrhp[ rfuuhu\]t
lrnnnqnril h ru u:hru urhnul

1nuil 4900000 'tlc

uqruLeLbr

331 12000 Zuliru\rupqir2 fu bpurnlurl qurpurqurLrhpp/ lloilq. 1 150000 i50000 rLu4



331 12000 'tlurudthuhutrdruh uurpp 3
$nrhL ohurhhnnd Xerox.Scan.Print

hurur I 90000 90000

331 12000 Unhhunn hurtfuLurnqlh huur I 60000 50000 trcu2

65310000
Lhppflt urrlurndurur hhnurlunuur\ru3urh 15

hrourhh \rdq. I 470000 470000 trcu:

Fd2 8 ut Q u h u uppw tlnpn u[h hp,

t4urlzutquthhp

qnFtlptrfu It

3565000
9nurqnttndhurn hurr.n 1 980000 980000 cz
9tbnp rftuhLurLurh rburLnrl hruur 25000 s2000 cz
thniiurlul]r uhnhL urhh hunn 50 360 18000 az
Fhnphdhurhurh hbrnuq. uurnp h$U huru I 1800000 1800000 CZ

hh\mpunnnp CbSqbf h$U urqrupurufr
hun^[urn

huur I 700000 700000

2hrinilhrnn hurur 1 1s000 1s000 7'

Qp ut u h h1 tu Q rylz h Q u hn z1p 806400
39153000 Qruhrunurh rhnpn 7I0-500 huln 5 18000 90000 trcuz
39153000 'Ihuhurnurh rhnpn 690'750 hruur 1 27500 110400 trcu2
39153000 Lhnburnntqdrub ruurhurnurh 2050-860 hrurn I 36000 36000 trcuz

391s3000
Uhqurh qpuubtrlur\ur3frh runruLg +urpuqh
760'750

huln I 24000 24000 trcu2

39153000
Uhrlub qpuruhLlur\u1[b 4rupu\n{
760-1200

hurur 5 42000 210000 trcuz

391s3000 Qqhurnu:qurhurnurh 2 nnrn 1800-800 hurtn 3 78000 234000 trfuz
39153000 9ghutnuruturhurnurtr 3 nnr-n 1800-l 200 hrurn I 102000 102000 trCUZ

Fd2QutQutt dhup4pbp 232260
22000000 lhnruunrlu hruur 9000 2.) 22500 ANTT 

'
22000000 Urlunr-lhohhurh nuhohn hurur 300 2.J 750 trcuz
22000000 Lfhqh L untruh ruhu-uhchhn hurur 13000 2.2 28600 rLu4
22000000 Urnn{.&h hunn 1300 6 7800 rLu4
22000000 *nruhqilurh &L hrurn 500 6 3000 rLu4

22000000 Dntuurhurbtlurh ourmn hruur 500 5 2500 rLu4
22000000 lnqh{hu ntnururnilu huln 400 .) 1200 NNTT 

'rLu4

22000000 l,ntr-[urtrhr.nrun nhn unnndu huln 5000 10000 rr_uz.
22000000 PuntLh urhrut hqh d,hurBnrnB hruur 1500 2 3000 trcuz
22000000 'Ihn urtnnrlu 2 onhhurb ho hruur 500 8 4000 trtuz
22000000 'hunnquLuh 026 &tr hruur 600 42 25200 trcu2
22000000 Unturh rhnphrlhurLurtr ruhulhqh nr url,rL hurur 2000 2 4000 rLu4

22000000
Snrphp\ntfrirlr qpurLrgrfiutr
qnurLqurilururruh

hrutn 1 8s0 850 rLu4

22000000 Uurn{ prunrn hrurn 50 350 rLu4

22000000 'lnn$. urururrlururnnrrltrhnh qhno huln 1 850 8s0

22000000
Zu{hflub 002 UU'l brunurlnr-plmtrtrhpfr

druurnror"furh hurer] runrlurh &h/
hurur 10000 5 s0000 NNTT 

'rLu4

22000000
tluruhurq.]unphp4urnr{. [uri
tun.urluu.hhuurq.

hruur 300 2.2 660 -L$4

22000000

Zf {ul4tutmgLhpnuf, trhrl

durutrurq[urur\urh \htrurpntrtrhpmrf
hphluuhhp[ bh4 iluruhurqfnnurllurh
hrnnhnnrrtt 

^tlnr 
Dlnr tl

hunn 300 2.5 750 trQUZ

22000000
uunn3urtr hhurqururrluuurnuiurlfrh
urtrpurnhhruqnn nhuphnh qnurtrodlul

hunn I 850 850 trcuz

22000000 Olnbqhn trtnphL nrnhonrlurh A5/2 hrurn 20000 2 40000 trQU2

22000000

nqhqf p/\ub.\ntiu.\nrpllrg prup&p nlru\f
hAfbhp[b durutr.\-L ]unphpl.\ulf
hhrnu.ro.nrnhomlurt/

hunn 50 3 1s0 trcu2

22000000
eU 063/\rubluupqh$) qunnrlruuurnultrhpfr
ournn/

hrurn 400 50 20000 ANTT 
'



22000000 lb 086/ndrL urt urh urtn hlr urho/ hurur 100 3 300 FCUz

22000000
pU 088/18 L purpd,p ururplrplr urtrd.|r
pdlhurunq,lhnn&urphhntnrurh nmho,/

hurur 200 3.5 700 trcuz
22000000 lq[[ hnt2urphlrp hruur 500 6 3000 trcuz
22000000

Uurhruurnp \mpnpururSfrtr purpur rlhbruh.h
nbnurh.hurr.fiun

hurur 100 10 1000 trcuz
22000000 Shq hl;.ntq hqnh uurtuqd.hurdun hurur 100 2.5 EO trcu2

gJ, -:l iQhEpp t*, m ^^" 
:"e *'6 u d:;'{1;.

t,?* 413650
22810000 Unnn gmpl urtr urtr&hurqhn N4 hurur 300 6 1800 trcuz
22810000 Unnq gnrralurh urtr&hurqhn N5 hunn 300 3 900 trcu2

22810000

$purhg urlururS rutr pd2\ur\urh

\uqilullhpqntp;urh \"{rtltg
uipuriluqprlnrl btrh4oqtrntpj ruh

hurrlururnuronh /

huur I 850 850 trcuz

22813000 Qrruruhhlru! urqhh chnp hurur 120 560 67200 rcu2
22813000 thrtnnturph qhnp Uruqilnd hurur 4 850 3400 trcuz
22813000 thq nprul plr ghnp rrunurt huln 2 800 r600 trcu2
22100000 Snpbnuldruir plruh! huln 100 3 300 trcuz
22100000 lnunturp!4|r hlpfr op4hp hurur 400 2 800 trcu2
22100000 Ur.[pm1 ulnnp punur/rihburhruuurth./ hurur 2200 100 220000 treuz
22100000 Lhutqnnurchn hruur 50 4 200 trcuz
22100000 Ll2[uurtntuhpru,;]rtr u1 rultftuhurqnh a,L hruur 100 8 800 trQU2

22100000
Udpntluurnp purpur

ilurtrt urt ruVun oht,urn ur,/
hunn s00 150 75000 trcuz

22100000 Utrhunnur\urh purnur hnhh h Etrhnburhh hurur 500 55 27500 n-u4
22100000

UL&hru\urtr uurtrfrururpurllurtr/pd2l1ur\rutr
qnpnllt/ hruur 100 60 6000 trcuz

22810000 9npurllnlfr qpurtrgunlururl urtr hunn 2 6s0 1300 trcuz
22813000 'Ihrlnpurlplr qruhurh2urqphnh Shpp 3

ulunndhtrurhurhmilnrl hurr,n 2000 4000 trcu2
22100000 Ipturfiuplrlurlfrtr rlmuruh onnhnh ohno hunn 20 100 2000 trcuz

hhulluh ,qJt*nrtptrEp - ,' s
i{ B ftte70Q: * .l

30197630 @ntl|p ,4'4 N500 rnnrrh t20 1900 228000 trcuz
22816300 l,lnuftrhFh pnulp rnntrh 100 100 10000 trcuz
301.92t21 lnh> lqhafrlunlnp hurur 1000 70 70000 trcu2
24910000 ?np unufrtr& hurur 500 100 s0000 trcuz
22815000 Shrnp 1009. hunn 40 250 10000 treuz
22815000 Shup 40p. hunn 40 150 6000 trcuz
228s2100 \|rtihpurlffr BurrluhB /gurrr/ rnmrh 20 1000 20000 trcu2
22815000 Shun l2B. hunn s0 40 2000 trcuz
30197200 tlqpurqurhurL rihb huu 30 180 5400 trcuz
30141200 qbqrubh hurrrlhl huur 4 2000 8000 trcuz
30192111 e*qaph purn&htl hruur 6 300 1800 trcu2
30792114 Ourhup lhlrph furn&hlrh hultrun hruur l0 250 2500 trcu2
30192125 $butrzhf /ttrunhhrr/ hunn 10 150 1500 trcuz
30192100 fthurfrtr luruurhb hunn 10 l0d 1000 trcuz
30192133 Uuulrurlr up[y hurur 5 200 1000 trQUZ
30192130 Uuurhrn uh huruurnut hruur 10 100 r000 trQU2
30192160 trurrl ur+FruLJ nrp /2rnplrlr:/ hruur 20 2s0 5000 trcu2
301923s0 lurZll h>-rlnruil.dull uul hh hunn 50 150 7500 treuz
301923s0 9qlh>h rfhurunulurnh turruhn /rhnpn/ rnntrh 20 150 3000 trcu2
30192350 trruph>h rihrnur4url ruph U urut tn /rjhqhl/ urnuh 20 200 4000 trQU2
30197120 9ndqull urnllh 8 100 800 trQUZ
30t99760 thururlt hurtn 6 200 1200 trcuz
22851000 fenpurqurhrub !n2rn turqilnrl hruur 30 1000 30000 trcuz

Ahfnputlp g::,
\r- l"l r.l tsn652:68."

33620000 Ffunqpnlnl 2.5 rlq N30 hurp 13500 6 81000 cz
33520000 9up4|rnriruqtrhr/h75ilc N96 hurn 30000 72 360000 cz
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/

33631600 Uu hnur ndrL urt urtr rht 96010 1 00rft chc 400 770 68000 cz
33631500 Uu hnrn ndrL urt uLr zht 70olo 1 00rlr ,hc 50 156 7800 cz
33631600 Uunnuhtr lilq/ilr hurur 10 590 6900 cz
33631600 Jurohhohnrrl unn$urur 25olo NlO hruur l0 27 270 cz
33631600 bntnurqhr hb 0. 1dq100ilr chc 150 76 11!100 cz
33551180 Lhnnhurrhh 2olo 20rfi N10 $r 100 726 72ffi tz
33551180 LhnnL urrhtr tuhhh$nhhnd2o/o 20rJr N10 $r. 100 792 792W c2
33692710 ]rrntLnour 5olo 100m1 rhurnhn 40 22L 8&r0 cz
33692513 luururnhntrlh Btnnhn r -ra0.9olo100ml rhrunhn 130 303 39390 cz
33632130 Uburqhh 500/o2rir N10 unftu 300 30 9000 cz
36752000 ]hilhnnnt lololtit N10 urdru 300 20.L 5030 cz
33614000 tlhhhnnnh oruurhrl 10.7o Nl rhurB. 200 296 59200 tz
33592000 Jnnh 5 o/o uruhnuu,uhh r-ra 30ilr chc 30 201 6030 cz
33570000 hn$hrhh urilru. 2.4 5dr uLlru 300 34.6 10380 cz
33597000 trunnrl urlunuh hurhntb t urBhr Lhn thz 30 t7L 5130 cz
33592110 tlhhqhnh 250ilt rhurBhB 25 23r 5775 cz
33612500 tJn-tulur 40dq N20 hrun 3000 8.4 25200 cz
33622730 l,hurnnqthqhnhb 0.0005 N40 hurn 800 6 4800 CZ

33615000 llhurumlnnrnr 50tfq N30 hurn 2400 L3.2 3i680 cz
33616000 {huurihL rI 3 qnurhh r-BlOrJr ,rlt]l 800 2190 1752000 cz
33616060 UUL nnnhhurnnnt or rnrL nouunrl n/trO. 1 o hurp 1500 6.4 9600 cz
33661180 f, $ururb-nhrJnr nr 0.5olo5rlr zhtr 40 399 15950 ?t

33692770 trhuru-rnhh 10olo120ilr ,rhl) 20 2850 s7000 ?t

33620000 Umrunururnhh hfi unlut 10 285 2850 cz
33631600 ihurnuttttuhh u-rLhurLurrahrhhn 1olo10rfr zhb 10 248.9 2489 cz
33631600 Qnrubhh ubnopuhn 3olo 100rir cqlth 1s0 116 L74QQ c2
33631600 lhnnntnnurhqnb pumt 15q hurur ZJ 249 6225 7'

33631600 t ruurnhmrlh nhnunrr$urur 5ilr 300/o N10 ulftu. 150 48.4 7260 cz

33661180
9n$hfrb-bururp[nul[ phhqnhurur lil1 100/o

Nl0 urilul. 10 31.1 311 GZ

33661180 3hnnttuu 5rlq/2dr N10 ruriru. 60 J/ 3420 cz
33592770 UtLurnhtuhh n/h N20 hurn 4000 ).J 22000 cz
33592513 Ln-cruur 40uto2dr N10 unlut. 60 57.4 3444 CZ

33632130 ]hpuurilhrnuronh unftu.4riolilr N5 unfru 250 64 16000 C2

367s2000 lhnfruohb 50q hrurn 10 1389 13890 CZ

33614000 I,-urhnnL uhh- 1 00rlq N100 hup s000 L7 85000 cz
33692000 Urfrnnhruhtr 5do N30 hurp 10000 6 50000 tz
33697000 Uurhtrnrnr 50ilo N100 hrun 3000 3.11 9330 GZ

33692110 crurnnhLhur nhururnn 20rfr N50 hrun 2000 39.52 79040 cz
336i2500 9nnnurnnh 200rtq N30 hurn 3600 o) 234000

33622130 'Tlurhurtrohtr 10ilr N5 r:rilut 20 384.8 7696 t2
33515000 Unnhhurrhh 0.18olo Nl0 unftu 10 144 7440 cz
33616000 $mnnuhrlhn 1ol02ilr N10 unlut 100 28.5 2850 cz
33616060 9nnnhurdhh 25ol02ilt N10 ullur 10 95.1 951 cz
33652200 Jhpu-rqnr loloSilr N10 un[ru 100 4L.4 4140 cz
33662180 3h$rnnhurpunh lq ryhlt 150 150 22500

33631610 ZhnnnprnnBhurqhul 100 rlq N20 hrun 1200 48 57600 7t

33642270 thqnhuhh 0.25ttq N40 hurp 5000 5.8 29000 CZ

33693050 3h$htnb'I ilntthb 0.1c N10 dnilht 800 37.L 29680 c2
33642200 3h$hbnb rI ilnilhb 0.25tlo N10 dntthl: 500 77.L 35550 cz
33642220 alurnur-$hr tn 500dq N10 hurn 5000 4.4 22000 CZ

336930s0 thLrn$hhurt nhrnurnn 100riq N20 hurr 3200 45 144000 cz
33622650 hpntqnnbhh n/h 0.2c N10 hurr 8000 5 48000 ?,

33612400 Uurrnnturunlnr onnurahn 10rfi $r. 140 978 136920 cz
336s2200 lhnnnpr nnnrahurq hn 25rlq N20 hrun 4000 12 48000 cz
33612500 .{hnnrrlhnnh n/h 25dq hurr 6000 103.8 522800 cz
33642210 $ntnnuhtfhn n/h 40riq N50 hurr 7500 0.5 3750 ?t

33642200 hhurrununhr nA 10{qN20 hurp 36000 ),J) 192500 c2
33622310 $urdmnhnhh 40dq N20 hurn 4000 33.55 134200 VL



33621 1 10 gurmlhnhr n/h12.5dq N28 hurn 3360 22 73920 cz

33622720 Sh$uronrhh t/h il/d un{'lq $r. 100 150 15000 cz

33661700 Fhuhrurnnt 480rlo N100 hu]E 3000 9.71 29t30 CZ

33622640 trurtrnnhri ozurnurt 2a0rlq/5il[Q0t!1- ?2h1) 120 468 56160 cz

33622150 t hurnn$ntnurhrnnthtr 500dq N56 hrup tlz t25.4r L4045.92 cz

335221.50 CuuunJnpu n/LurlunttB 125rlq/5il1501t1 'tchlt 100 598 69800 c2

33622000 Cuuu-rdnpu oturnuh 250riq/5d1100d )ehl) 150 1320 198000 cz

33622120 UrlnpuhLrunl 156.25ilq/5dt lrll,ll 720 r436 172320 CZ

33622320
Udnpuir\1ull Qnpurb ry'\utlunt3 P
312rIo/5dr 100ilt

22b\ 120 2651 318120 7t

33622100 llurnruohrnurdnrh or. 125rlt ,)tll) 70 534 37380 c2

33651 102 *rrmLnour 5ol0250ilr *rruB. 30 231 6930 cz

336s1 102 t urunhnttlh Dlnnhn 0'90lo5rft N10 unfu s00 30 15000 7.,

33551 102 gulnhurn hnurtruthh BhBhntrht G24 hunn 200 101 20200 7,

33592710 Lulnhouho &hntrnqhhn hrurn 15000 t9.2 288000 cz

33592513 Urnnnrl uruurururhh 20ilq N30 hrup 7200 33 237600 tz
33141200 hhnunuunihn 1.5rlq N30 hunn 3600 45.95 165456 VL

33141200 ULnurur ndrturhurtr hurur 5 3000 18000 ?,

33141200 Urnhnht &tnhnq huln 500 126 63000 CZ

33141200 Uurnunlilunnhb qnnthb N3 hruur 20 960 19200 C2

33141200 Uurnurrldururhb ulnnthtr N4 hurut 20 960 19200 T'

33141200 Urnnrurl iluu.nht u nnt htr N5 hurur l0 960 9500 7,

33141200 Lurqhbuh uurtn ilhb N10 urntth 2 240 480 vt

33141200 Lurqhbuh uurlp rlrnPP N10 rnntfr 2 240 480 cz

33615000 Ubhnt-?Lp'tlhnSnnrfur Bhuur-hnhq N100 rnnLrh z) 5000 12s000 7,

33141430 UturnhShturunn nt rfhurur4ur\urh 200 huln 10000 6 50000 7,

33616000 LhnurnLhl uruhqn{ 2dt hruur 2500 20 50000 v1

33i41300 Itunhq 5ilt hrurn 800 22 17600 CZ

33141310 Thuuurtunu 3-20 thuro, 50 163 8150

33141310 .{.hnurturru 7'74tt{ rhurn. 700 120 84000 VL

33141310 Uuhn hhnurnlrhlh S-22.7.30 N100 hruur s500 8.9 48950 7,

33622200 .turn$urnhh 2.5riq N1 00 hrun 2000 30.2 60400 CZ

3365 I 109 OurhohS 5d rlrurBhB 50 504 30240 VL

33620000 Llhurnnhhnurqnt 500riq N20 hurp 1000 45 45000 7,

33522150 UntqrihLuhh 625riq N10 hurp 1000 124.1 124100 v,

336321 10 t hnurnbhr ruuhnnrl 2orlt hrurn 200 J) 7000 CZ

336321 10 LhnurnLhr urubnml 10ilt hurur 500 27 13500 7'

33651240 Urinpuruqhthtr 4/h 500 rlc N20 nhnuru. 3000 25 75000 cz

33673400 bhnnul tht orurnurlt zhlt 140 232 32480

33593060 bnrurnnnr 1ilq N48 hurp 250 4.83 1207.5 ?,

33620000 ?hburhr h urlunttB 4o/ot0,J )rli) 50 7456 87360 cz

33622320 thnntturt 10dq N50 hun 100 18.32 1832 cz

33522810 t h$hnhurhtr 10ilq N50 nnurdh 4000 77.38 69520 7,

33520000 Grirnnhruhtr 10rfq N100 hurn 9000 6.7 60300 C2

33622620 llhhunhohhh tfuro 5olo 100q unrlh 10 540 5400 trL

335s1 107 NaCl 0.90lo 500rfr hurur )U 294 74700 7,

33551 107 NaCl 0.90lo 250tit rhurBhB 120 23t 27720 >t

??6q1 1 ?? Uuruhnhtr-h urnnhn 1 00riq N20 hura 5000 24.55 t22750 c2

33651722 Uuururht rhurtrnh hunn 8000 >.JZ 44750 cz

33541000 qur1 qhnr.lih qt lnt! nhrurn 0.5rlq N1 0 hurr 500 4.6 2300

33651240 rrrurnhurhh l0r.fq N10 hurp 4s0 49.8 224L0 7.,

335s1102 .lhnurururiht 40tiq N30 hrup 3000 76.46 49380 7,

335s1 102 SuninpuhShh 20dq hurn 1200 89 106800 CZ

33651 102 UrfhurL 30ilt ryhb 20 90 1800 7'

33651102 Lhmlhtnrh puntp 40q huru 24 272 s088 UA

3355i 102 clhnurl-ruru 5'10uri hurur 300 80 24000 vt

33651240 Uurrnntuunlnr 2ilq N24 hurp 1200 L3.75 16500 ..,

336927r0 9rmlhnnontt 75do N30 hun 1500 8 12000 7'

33692513 Odhurnruonr 20ilqN30 nhnurru. 7800 13.5 r06080 VL
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33200000

ljitomegalovirus CML IgG urnurhg I.$U
l6n. unLlh 1 40000 40000 cz

33141200 Uhqh phuur 10 ulupurdturp /100 phuur / urntrh 32 5200 166400 CZ
33595000 Spnqnbfrtrhhp utnurlrg h$U hruur I 25800 26800 c2

31651200
Eurlh. uulFuurqnw't'P-col 2"l00ml
/200Btuur/ umLqr I 6400 6400 cz

Sfunlnqfu[ub unufh& 250rI1 hurur 1 24750 24750
33793000 ftOh qhuthrrrlur hunn 20 250 5000 CZ
33594000 Zhilnqlnqturlur 2Oribt huur 20 448 8960 cz
33594000 Onn&urtrnB 5Ohuru hunn 50 99 4950 CZ
33593100 UnurnL ruturburtr uru ruL h 5Ohurur urntdr 50 380 22800 cz
33212400 CurELuluurth 50 hurur urnuh 50 6s0 32500 tz
33200000 ktntrlhu STAT FAX -h hun-lurn hunn 100 50 s000 cz
332L2200 Dnn&urhnB qhLunh$nrqurh hurtn 50 68 3400 cz

33212200
Oulpur\u1 ur{tnnrfurur qfrqhurll. 100

1000ritr
hurur 400 4 1600 cz

33212200 JurSpu[ru1 ru{urnrfurur ulhulhuU. 0-100rlht hurur 1000 4 4000 cz

33272200
Uururtrrlurprn urfnnp HCI - urqruppnr- 0.1

[rnnrlul Sr. 40 350 14400 CZ

33141177
U[ruhtluq qluruurfr\ rJrnpLurbnp uqffi
hul^lurn

hruur 500 15 7500 cz

33595000 lhbhhntnqhurbrutr hrurhr h gntuhn hruur 300 155 46500 cz
33200000 *htrhtntnqhurlurtr rquurhr rhurrurh hunn 800 8 6400 cz
33212200 Snttiluhh qnurrhL huln 700 55 45500 c2
33212200 lhuurnppu2 hurur ll00 74 81400 cz

33272200
faryal u {tuphp q}rtrhllnlnq}rru[urtr uhrlurtr]r
huriurn t*rn. 6 3s00 21000 cz

332L2200 QUII phupfr hhururqnurtlurtr hurrlurpurbnt hunlurp. 6s0 588 382200 CZ
33i41117 U+Fht 'tlU'tl ptuuh ghpuhrnt hurlurn hurtn 2 13890 27780 cz
33695000 Ptnnudhh hq 400 3200 1280000 CZ

fizi"ffittbn MIffi
39831242 urnrrh 80 400 32000 trQU2
39831240 Uluururhurtrnn hhn nrt/dunlh hurur 80 3s0 28000 trcu2
39831240 Our hurur 50 350 17500 trcuz
39291000 n hurtn 60 100 6000 trcuz
39831600 L hunn 20 900 18000 trcuz
s3761000 hurur 300 100 30000 trcuz
33764000 n hunn 20 100 2000 treuz
39836000 urLh htu hunn 2500 10000 trcu2
39836000 u urh hunn 20 1200 24000 trcu2
39224200 hurur , 1500 3000 trcu2
31531000 100w huln 80 100 8000 trcuz
39s13200 uldh hrutn 50 r00 5000 trcuz
30199410 nr tthb hruur 5 300 1500 trcuz
39224330 nt hluur 8 800 6400 trcue
39224330 fluru hurur 4 500' 2000 trcu2
39514100 U hurur 10 1000 10000 trcu2
39224340 Unprunbrl hruur 5 600 3000 trcuz
39832100 Uilruh rd.hhnmt rurn.h. hurur 10 600 6000 trcuz
39224350 9nqulrdhurlr /uullnL/ hurur 5 500 2s00 trcu2
39562000 Ununph rdurnhD hruur 1 2500 2500 trcuz
18937000 Uqn. thurBhBurrlnnriurh rnnrunurthhn thurrahn 15 600 9000 trcuz
33711900 Odurn hhqnlt hurtn 15 400 6000 trcuz
39224320 Uqnrhg &nnnrl ulururnr-hurh rrl.hurrJurn hunn 4 2000 8000 trcuz
39831283 ZunnurLh trlurqdurh ruro hunn 10 1000 10000 trcuz
39835000 ZrutnuL ilurpntrnt Ann rhrururrur hurur 4 1000 4000 trcuz
31221280 bntrunurqiluh tun 5hurururLno huu 3 2000 6000 trcuz
37221280 bp! urpuror-tuh t urn 3hunnurtrnq hunn 3 1500 4s00 trcu2
18141 100 SLurhuruLurh &tnLno hruur 10 400 4000 trcu2
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